TCSS 371A Home Work # 2

The following are outlines of the solutions to the assigned problems.

Expectations of Student homework submissions:

Each solution should be neat and easily readable with appropriate comments in proper English.   

Any assumptions made should be clearly described.  

Appropriate diagrams, charts, tables, etc. should be included.  

If the solution is not complete, that should be clearly stated, and the reason given if that is meaningful.  

If appropriate, the solution should be verified.  

Chapter 2:

2.18 The answers are:

        (a) 1100 (binary) or 12 (decimal)

        (b) 1011000 (binary) or 88 (decimal)

        (c) 1011 (binary) or 11 (decimal)

        (d) 11 (binary) or 3 (decimal)
2.20 (a) 1100 + 0011 = 1111

                  -4 + 3 = -1

        (b) 1100 + 0100 = 0000

                  -4 + 4 = 0

        (c) 0111 + 0001 = 1000 OVERFLOW!

                   7 + 1 = -8

        (d) 1000 - 0001 = 1000 + 1111 = 0111 OVERFLOW!

                  -8 - 1 = -8 + (-1) = 7

        (e) 0111 + 1001 = 0000

                   7 + -7 = 0
2.21 Overflow has occurred if both operands are positive and the result is negative, or if both operands are negative and the result is positive.
2.30 (a) 01010111

        (b) 100

        (c) 10100000

        (d) 00010100

        (e) 0000

        (f) 0000
2.38 Let N = n & 1000, M = m & 1000

        Overflow = (N AND M) OR ((N OR M) AND ((NOT s) AND 1000))

2.40 (a) 2

        (b) -17

        (c) Positive infinity. NOTE: This was not explained in the text.

        (d) -3.125
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Chapter 3:
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3.7 There is short circuit (path from Power to Ground) when either A = 1 and B = 0 or A = 0 and B = 1.
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